| total events O=anyInput 8=anyAccept |

|rate of input events

T Frr T T Mean

RMS

Entries 82

4.085
3.257

7 8

6 9
Accept: 4=oneJet, 5=diJet, 6=rnd

|L2 COMP+DECI time per input event

4

3.5

y: events

........

........

20

............................................................................

Entries 33

Mean

RMS

30.14
7.761

....................................................................
..................................................................

40 60

80

100

120

140

160

180

x: COMP+DECIS time (CPU kTics)

w
!

y: rate (Hz)
w
a1
I

Mean
RMS

Entries 33

20.38
2471

PX] S S— I— — —
1| S S A S S

| S— — B— — T—

2000

2500

X: time in this run (seconds)

4ccpet rate blue:monoJet, red:diJet, black:randon1

y: rate (H1z)
w
(]
I

o
w

0.25

0.2

0.15

0.1

0.05

Entries 17
= - - Mean 25
o P A RMS  3.643¢-07
| 1 L L 1 i L 1 1 1 i 1 L i 1 1 i L 1 1

1000

1500

2000

2500

X: time in this run (seconds)




0.6 E—...............l P — . e e : [ — P R — o eesssssamaaan
0.4 E—............... P — e e [ — P R — o eesssssamaaan

H
iy
x: BTOW softiD.

BTOW tower, Et>2.0 GeV (input)

0.4 E—- P - DI ... B EEE - B P me e smea e LR
0.2 E—-------------- - R P B 3 - B P LR me e smea e LR

TI00 TX0 T300 TA00

BTOW tower, Et>2.0 GeV (input)

08 E—--------- e ceeee e Bl LEE R -1 R B L E T B LR R B LR
06 E— . JR— - - [ - e e e e
04 E—--------- [ JR— [ e -q--- e e e e
02 E—--------- e JR— [ e -q--- e PR : e e
ok ¥ j .

x: BTOW softID
0.8 E—................ . - .. ........:...... ......:........ - M ememamaaa - . e e e

= i ; i ; i

N4
IS

x: BTOW softiD.

BTOW tower, £t>2.0 GeV (input)

— eeg e eaaan eemmaapaaaan e aaayaemaaaaaan fegeaeaaaaaaa. T e
0.8 E - P ) mee e B - B R ER BRI D] & EE BRI
0.6 E B R mee e . P - --------:---------- P R R D] & EE BRI
04 E B R mee e P BE SR BRI P R LR D] & EE BRI
0.2 = - P eeeaeaan ... - .. feeeeaa BE B I R B IR EEEEEEEEEE

BTOW tower, Et>2.0 GeV (input)

04 feeeeeeaaaaaa EEE TR TP B PR T ceeeeeaaaes
02 e maeeeaanas e aeteaaaa e eeeaeaaaaas R s
g ek ook ot =7

X: BTOW softiD.



ETOW tower, Et>2.0 Gev (input)

°
>

han+128*crate

°
>

ETOW tower, E2.0 GeV (nput)

0

[

: i=chan+128*crate

1
0.8
06
0.4

I

I_II_I_IJ_I_I_IJ I IJ

4...

.
o

i=chan+128*crate

ETOW tower, E2.0 GeV (npul)
/]

Ly

i=chan+128*crate

°
>

ETOW tower, E2.0 GeV (nput)

i
TI0
i=chan+128*crate

°
>

i

=chan+128+crate




BTOW tower, Et>2.0 GeV (input) Entries 34| |erow

R~sector

o
o
|
|
=
T

.B TOW-East .B TOW-West

N
o

I I I
=
o N)Y
y: phi bin ~sectogj
o

. phi bi
&

! T

|
S

S e e TEE S

S e e TR

O I | I | I | L 111 L 111 | L 111 | I | | I | O -| |1 | L 11 | L 11 | L 11 | L 11 | L 11
O 5 10 15 20 25 30 35 40 0 2 4 6 8 10 12
X: eta b | N , [-l’+l] x: 12 - Endcap etaBin ,[+1,+2]

o




Et Jetl-Jet2 (input) |

>
)

Jet2 Et/G

Entries

30

25

20

15

10

......................................................................................

......................................................................................

......................................................................................

0
0

5

10

|diJet phil-phi2 (input) |

y: iPhi2 ~sector

30

15

20 25

x: Jetl Et/GeV

33

I3

—12.5

15

I0.5
0

30

|diJetl eta-phi (input)]

y: iPhi ~sector

Entries

30

RTW-F:—?Qt

L] SRRt S

10

BTOW-West

Endcap

.............................

Olllilllil
0 2 4

6 8

Entries

N
¢

20

15

10

0

5

10

15

20 25

x: iPhil ~sector

33
1
IO.9
—0.8
—0.7
0.6

0.5

0.4

0.3

0.2

0.1

o

30

[diJet2 eta-phi (input)|

y: iPhi ~sector

30

RTW-FQQI‘

N
(&2}

N
o

15

10

(@]

BTOW-West

_____ -

10

12 14
x: iEta [-1,+2]

o

2 4

6 8

10

12 14
X: iEta [-1,+2]

33

1.2

!0.8
0.6
0.4
0.2
0

0.9

0.6

0.5

0.4

0.3

0.2

0.1



Jetl Et (input)

# BTOW towers>ped+8 (input)

5

# ETOW towers>ped+8 (input)

OO

10

i i
80 90 100

x: # of towers/event

Entries 33 Jet2 Et (input) Entries 33
|Mean  8.591 e S S AL S Mean 2.803
3.926 : : : : g RMS 2.329
y 50 y y 60 y 50 y y 60
x: Et (GeV) x: Et (GeV)
Entries 33 Entries 33
Mean 17.68 ; ; ; ; ; ; ; —Mean  15.53
RMS 6.74 10f—=--- e Trreeeees S Fareereadeaeeens Tereeeees ---{RMS 6.654
160 180 200 Clllli;ll 20 30 40 IISiOI”Ieé)”II7(iJIIII8i()IIIIQEZ)IIII1CO
x: # of towers/event x: Et (GeV)
Entries 33
Mean 3.258
RMS 2.374




one-Jet Et (accepted) | one-Jet eta-phi (accepted) Entries 17

.Entries 17 -~ RTQ;“-FacT SRASA .—West Endpap )
: : !1.8

—1.6

...................................................................................

y: iPhi ~sector

—1.4

...................................................................................

20

—1.2
15 E——

—0.8

10
0.6

|IIII|IIII|IIII|IIII|IIII

0.4

0.2

Illi IIiIIIiIIIIiIIIIiIIII OlllilllilIilllillllllilllil

0 10 20 30 40 50 60 2 4 6 8 10 12 14
X: jet Et (GeV) x: iEta [-1,+2]

o

one-Jet phi (accepted) | one-Jet eta (accepted) |

Entries 17 Entries 17

e A S S 4
) S -

3.5F
O s R e B -

14:_ --------- ------------ ----------- T ” E N N N N N
: | | | R N -

12__ --------- ------------ ----------- B o r N N N N N
o AR R e 1 o O T S S o

08 e T T I CEPP 08 Y 1 O R St 8

A :

| 1w 8 T S -

e T R A S S

0 C 1 1 1 i 1 i 1 1 i 1 1 1 1 i 1 1 0 1 1 1 i 11 1 i 1 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1 1 1 i 1
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhi ~sector x: iEta [-1,+2]




|Et of Jetl vs. Jet2 (accepted)]

> 30

Jet2/Ge

25

20

15

10

0

0 5 10 15 20 25

......................................................................................

......................................................................................

......................................................................................

30
x: Jetl/GeV

Entries 8

2

1.8

1.6

1.4

12

1

0.8

0.6

0.4

0.2

0

|d|Jet1 eta-phi (accepted)
T
30

y: iPhi ~sector

RTO\/\/ FAQT

est

<_

D

[Entries 8]

20__..- ..........

15p—--oe- e

10

.........................

Endcap

.............................

Olllilllil
0 2 4

6 8 10 12 14

|diJet phil-phi2 (accepted)]

30

y: iPhi2 ~sector
N
(82

20

15

10

0 5 10 15 20 25

30
x: iPhil ~sector

Entries 8

1

0.9

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

0

[diJet2 eta-phi (accepted)|

y: iPhi ~sector

N
o1
IIIIIIII

RTO\AI F.’:acf

WES'[

x: iEta [-1,+2]

1

Endcap

30

20

15

10

(@]

o

2 4

6 8 10 12 14

X: iEta [-1,+2]



8

Entries

|diJet eta (accepted) |

10

.............................................................

8

Entries

|diJet Et (accepted)|

14
x: i Eta[-1,+2]

12

20 30 40 50 60

10

x: Et (GeV)

8

Entries

|diJet delZeta (accepted)|

[
 LILET TITSI SR SR R O o TR _
: I
[ ™S
. N -
< 7

8

Entries

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

|diJet phi (accepted)|

atril ettt vttt A alriahts Wi
— % (o] < N
S

o
o

9.
o

®
o

30 40 50 60
x: delta zeta (rad*10)

20

10

20 25 30
x: iPhi ~sector

15

10



|diJet delZeta vs. etal (accepted) |

Entries
Mean x

y: delta zeta (rad*10)

60

50

40

30

20

10

Mean y

8
3.875
27.5

0.9
—0.8
—0.7
—0.6

~os

—0.4

0.3

0.2

0.1

2 4 6 8 10 12 14
x: iEtal [-1,+2]

|diJet delZeta vs. avrPhi (accepted)|

Entries

y: delta zeta (rad*10)

Mean x

60

50

40

30

20

10

—{Mean y

8
15.75
27.5

—0.6

JO.S

0.3

0.2

0.1

0

5 10 15 20 25

30
x: (iphil+iphi2)/2 (12 deg/bin)

|diJet eta2 vs. etal (accepted)|

x: iEta2 [-1,+2]

5

8
3.875

Entries
ean x

D

e S S

12f—-ee- ------------ ----------- J— - -----

foo. oW
O-Iilllilllilllilll

0.3

0.2

0.1

0 2 4 6 8

10

12 14
x: iEtal [-1,+2]



|tota|

Et diJet (accepted) |

Entries

3

2.5

15

0.5

Mean

8

22.5

30 40 50 60 70 80 90

x: Et (GeV)

100

|tota|

Et diJet (accepted_EE)| Entries

1

0.8

0.6

0.4

0.2

0

0 10

:|Mean

0
0

20 30 40 50 60
x: Et (GeV)

|tota| Et diJet (accepted_EB)| Entries 1
T P PP PP SO . Mean 435

0.8

0.6

0.4

0.2

0 10

......................

......................

20 30 40 50 60

x: Et (GeV)

|tota|

Et diJet (accepted BB) |

Entries

3

2.5

15

0.5

8

22.5

Mean

30 40 50 60 70 80 90

x: Et (GeV)

100




|Et of Jetl vs. Jet2 (accepted EE)| sntries 0
= ean x 0
> 30 -Mean y 0
S :
S L
L et R I T RCRITIIRY SEMPRCRIR SRR
20 | e
e O SNt SRR SOU PR OUONE SUROUUR SO — High Et jet
C --- Low Et jet
10:_ ......................................................................................
] ESSSROPIOS USROS MUSTSSINOE SSVMUSRSONS OSSO SRS
O_I 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
0 5 10 15 20 25 30
x: Jetl/GeV
|diJet phil-phi2 (accepted EE)| entries 0 |diJet eta2 vs. etal (accepted EE)| cntres 9
_ 30 —Mean y 0 _ BTOW End(,:a eany 0
g r : T oAb NS ORI NS S .
g T 7 1E =
L) O OO OO SO ~ 5
~ O Y OO SUUUUURUUS SUUSTURUUE SOUUUOROS SUUUUTRIRY NOUUUOURI: SOURUOOIOS ...Ehdcap
e - L - :
x = F
. - > -
S0 20 10
i S
L S C BTOW
. ) ORS00 SR SSMUHISS SORON  S————
10_— ''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''' C
C L S R R S
o O SRRt SUUURUUOE SURNRUROOE SVRURURON ST C
N 2_— -----------------------------------------------------------------------------------
0 C 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O C 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1 1 1 i 1
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhil ~sector

x: iEtal [-1,+2]



|Et of Jetl vs. Jet2 (accepted EB)| I\Eﬂgg:ff( - |diJet Et (accepted EB)| Entries 1
30 M
% . S B ‘[Mean 275
S r 0.9 :
L
S —los
L —o0.7
20—
- —0.6 : :
15__ ...................................................................................... Jo_s e ngh Et Jet
: --- Low Et jet
C —0.4 ; ;
0] O O ST PO SO m_.
C 0.3
5:_ ______________________________________________________________________________________ 0.2
- l— """""" (o DR o i : """""""""""""""""""""""
- 0.1 i H 5
0_| - | | T - | T I | | [ | | [ I | | [ I | O B T - le | - l [ 1J R T - l B TR | LJ | T
0 5 10 15 20 25 30 0 10 20 30 40 50 60
x: Jetl/GeV x: Et (GeV)
|diJet phil-phi2 (accepted EB)| cntres 2 |diJet eta2 vs. etal (accepted EB)] cres 1
_ 30 . —Meany 285 — BTOW End(,:a eany 125
g r m : T oAb s SRS R S .
§ - : 0.9 <7 : : 0.9
VT T e St A S 08 ol - ............................ ...EpdRap
< - w - : :
o R = L
= L —o0.7 x b —0.7
| S 10
L —0.6 B —o0.6
L B
15_— '''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''' JO.S C : BTéW
: —0.4 S RCCCIITStt SSTIRSSEI EREPREY SRISIE) ISP SSPRSIT SeS —0.4
10— -------------------------------------------------------------------------------------- -
- 0.3 - 0.3
C L S S
- 0.2 - 0.2
0 OO SOUURURR HURUURUUUOE SOUUURONN SURURUORN (SVUUUROUNt SUORRRORS OO
C 0.1 2: 0.1
O_I 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O O_I 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1 1 1 i 1
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhil ~sector

x: iEtal [-1,+2]



|Et of Jetl vs. Jet2 (accepted BB) |

Entries
Mean x

> 30
Q

Jet2/G

25

20

15

10

0

0 5

—{Mean y

......................................................................................

......................................................................................

......................................................................................

10 15 20 25
x: Jetl/GeV

8
10.88
6.125

1.8
—1.6
—11.4
—1.2

Jl

—0.8

0.6

0.4

0.2

0

30

|diJet Et (accepted BB) |

Entries

8

T T T Mean 10.88
— High Et jet
AU | SOOI A ---LowEtjet |..i......
S T T R N | I N

o

10 20 30 40 50

x: Et (GeV)

|diJet phil-phi2 (accepted_BB) |

Entries
Mean x

30

N
¢

y: iPhi2 ~sector

20

15

10

0

0 5
Mon Apr 13 12:08:44 2009

Mean y

10 15 20 25

x: iPhil ~sector

8
15.12
17

0.9
—0.8
—0.7
—0.6

JO.S

—0.4

0.3

0.2

0.1

30

|diJet eta2 vs. etal (accepted_BB)|

Entries

x: iEta2 [-1,+2]

[ERY
N
!

5
i

[N
N

ean X

Endpa

BTO\W!
L™ | \l,I vV

60

8
3.875

.............................

I——

.............................

O-Iilllilllilllilll

0 2 4 6 8 10 12 14

x: iEtal [-1,+2]

0.3

0.2

0.1



